Khan's Grill, 1346 W University Dr Edinburg, TX 78539, Pulled: 06/17/2025 11:28:26

Settings: Date Range: 06/02/2025 - 06/15/2025 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier Waitstaff Manager

Data for: 06/02/2025 05:00:00 to 06/16/2025 04:59:59

Data for: 06/02/20	025 05:00:00 to 06/16/2025	04:59:59	
, Admin Job Title	Day: Data	L aura	Taka
ios ride	Pay Rate Total	Hours 0.00	Tota \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
, QR Ordering			7
ob Title	Pay Rate	Hours	Tota
Salas, ĆO OO	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
adame, Juan Job Title	D D		T-4-
Default Job Code	Pay Rat \$0.0		Tota \$0.00
Default Job Code - OT	\$0.0	0 46.72	\$0.00
Sales: \$0.00	Tota		\$0.00
Tips: \$0.00	Claimed Tip Gratuit		\$0.00 \$0.00
	Grand Tota	il	\$0.00
	Avg Payrat	e	\$0.00
Aguilar, Joe	Day Data	Harrie	T-4-
OC - Cook	Pay Rate \$10.50	Hours 67.73	Tota \$711.16
OC - Cook - OT	\$15.75	15.47	\$243.71
Salas: 60.00	Total	83.20	\$954.87
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$954.87
	Avg Payrate		\$11.48
Anaya, Brianna			
OC - Server	Pay Rate \$2.15	Hours 45.38	Tota \$97.58
oc server	Total	45.38	\$97.58
Sales: \$1,025.44	Claimed Tips		\$0.00
Tips: \$78.41	Gratuity Grand Total		\$4.27 \$180.26
	Avg Payrate		\$3.97
Barradas, Keyla			
lob Title	Pay Rate	Hours	Tota
OC - Server OC - Cashier	\$2.15 \$10.00	20.91 4.40	\$44.96 \$44.02
oc - casinei	Total	25.32	\$88.98
Sales: \$2,316.51	Claimed Tips		\$0.00
Tips: \$253.05	Gratuity Grand Total		\$11.63 \$353.66
	Avg Payrate		\$13.97
Bautista, Javier			
Job Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
Charres Arrabass	Avg Payrate		\$0.00
Chavez, Audrey	Pay Rate	Hours	Tota
OC - Server	\$2.15	52.65	\$113.19
	Total	52.65	\$113.19
Sales: \$926.74 Tips: \$72.87	Claimed Tips Gratuity		\$0.00 \$17.60
11ps. 372.67	Grand Total		\$203.66
	Avg Payrate		\$3.87
Cortez, Alani			
lob Title	Pay Rate Total	Hours 0.00	Tota \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
davila Mia	Avg Payrate		\$0.00
davila, Mia Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
de la Vina, Allison			
ob Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00 \$0.00
Doe Jane	Avg Payrate		\$0.00
Doe, Jane Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	J. J. J. J. J. L. J. L.		Ţ0.00

Fabruaria Isra	Avg Payrate		\$0.00
Echevarria, Jose	Pay Rate	Hours	Total
Job Title	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Fuente, Angel			
Job Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
c : p.11	Avg Payrate		\$0.00
Garcia, Baldemar Job Title	Pay	, Rate Hours	Total
OC - General Manager	ray	\$0.00 80.00	\$0.00
OC - General Manager - OT		\$0.00 30.77	
Sales: \$4,805.14	Claime	Total 110.77	\$0.00 \$0.00
Tips: \$240.12	Gr	atuity	\$85.73
	Grand		\$325.85
Carrie Chalsov	Avg Pa	iyrate	\$2.94
Garcia, Chelsey Job Title	Pay Rate	Hours	Total
Waitstaff Manager	\$5.00	37.34	\$186.69
	Total	37.34	\$186.69
Sales: \$874.01 Tips: \$53.68	Claimed Tips Gratuity		\$0.00 \$28.65
.,p.,, 700,00	Grand Total		\$269.02
	Avg Payrate		\$7.21
Garcia, Destine			
Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Gonzalez, Arturo	Avgruyiuce		70.00
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1163. 40.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Gonzalez, Jose			
Job Title Default Job Code	Pay R	ate Hours .00 80.00	Total \$0.00
Default Job Code - OT	\$0	.00 22.49	\$0.00
C-1 ¢0.00		otal 102.49	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed T Grati		\$0.00 \$0.00
••••	Grand To	otal	\$0.00
	Avg Payr	ate	\$0.00
Govea, Charlize	Pay Rate	Hours	Total
OC - Server	\$2.15	8.94	\$19.21
	Total	8.94	\$19.21
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11μ3. 30.00	Grand Total		\$19.21
	Avg Payrate		\$2.15
guerra, Chloe Job Title			
	Pay Rate	Hours	Total
OC - Cashier	\$10.00 Total	39.39 39.39	\$393.87 \$393.87
Sales: \$16,336.23	Claimed Tips		\$0.00
Tips: \$1,316.71	Gratuity Grand Total		\$122.23 \$1,832.81
			\$46.53
	Avg Pavrate		
Hernandez, Josie	Avg Payrate		
Hernandez, Josie Job Title	Pay Rate	Hours	Total
Job Title OC - Cook	Pay Rate \$10.50	80.00	\$840.00
Job Title	Pay Rate \$10.50 \$15.75	80.00 24.24	\$840.00 \$381.76
Job Title OC - Cook OC - Cook - OT Sales: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips	80.00	\$840.00 \$381.76 \$1,221.76 \$0.00
Job Title OC - Cook OC - Cook - OT	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity	80.00 24.24	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00
Job Title OC - Cook OC - Cook - OT Sales: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips	80.00 24.24	\$840.00 \$381.76 \$1,221.76 \$0.00
Job Title OC - Cook OC - Cook - OT Sales: \$0.00 Tips: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total	80.00 24.24	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76
Job Title OC - Cook OC - Cook - OT Sales: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 24.24 104.24 Hours	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76 \$11.72
Job Title OC - Cook OC - Cook - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 24.24 104.24	\$840.00 \$381.76 \$1,221.76 \$0.00 \$1,221.76 \$11.72 Total \$0.00
Job Title OC - Cook OC - Cook Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title Sales: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips	80.00 24.24 104.24 Hours	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00
Job Title OC - Cook OC - Cook - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 24.24 104.24 Hours	\$840.00 \$381.76 \$1,221.76 \$0.00 \$1,221.76 \$11.72 Total \$0.00
Job Title OC - Cook OC - Cook OC - Gook - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title Sales: \$0.00 Tips: \$0.00	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity	80.00 24.24 104.24 Hours	\$840.00 \$381.76 \$1,221.76 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00
Job Title OC - Cook OC - Cook OC - Cook OC - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title Sales: \$0.00 Tips: \$0.00 Hernandez, Karylu	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 24.24 104.24 Hours 0.00	\$840.00 \$381.76 \$1,221.76 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Cook Sales: \$0.00 Hernandez, Julio Job Title Sales: \$0.00 Tips: \$0.00 Hernandez, Karylu Job Title	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Pay Rate Pay Rate Pay Rate Pay Rate	80.00 24.24 104.24 Hours 0.00	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Cook OC - Cook OC - Cook OC - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title Sales: \$0.00 Tips: \$0.00 Hernandez, Karylu	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 24.24 104.24 Hours 0.00	\$840.00 \$381.76 \$1,221.76 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Cook OC - C	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00 \$15.00 Total	80.00 24.24 104.24 Hours 0.00	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$29.95 \$829.95
Job Title OC - Cook OC - Cook OC - Cook OC - OT Sales: \$0.00 Tips: \$0.00 Hernandez, Julio Job Title Sales: \$0.00 Tips: \$0.00 Hernandez, Karylu Job Title OC - Cashier	Pay Rate \$10.50 \$15.75 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00 \$15.00	80.00 24.24 104.24 Hours 0.00	\$840.00 \$381.76 \$1,221.76 \$0.00 \$0.00 \$1,221.76 \$11.72 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

	Avg Payrate		\$40.55
imenez, Jose			
ob Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
imenez, Nicole	* '		·
ob Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
imenez, Yareli			70.00
ob Title	Pay Rate	Hours	Total
OC - Server	\$2.15 Total	31.87 31.87	\$68.51 \$68.51
Sales: \$4,161.62	Claimed Tips	02.07	\$0.00
Tips: \$247.78	Gratuity Grand Total		\$24.40 \$340.69
	Avg Payrate		\$10.69
ara, Rogelio			
ob Title	Pay Rate	Hours	Total
OC - Cook OC - Cook - OT	\$10.00 \$15.00	72.03 11.97	\$720.33 \$179.62
	Total	84.01	\$899.95
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$899.95
	Avg Payrate		\$10.71
.ecea, Alan ob Title	Pau Pata	House	Total
on ride	Pay Rate Total	Hours 0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
.opez, Jose			
ob Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Lopez, Jose	Avgraviace		
ob Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tins	0.00	\$0.00 \$0.00
Tips: \$0.00	Claimed Tips Gratuity		\$0.00
	Grand Total		\$0.00
Manager Manhalla	Avg Payrate		\$0.00
Marquez, Marbella	Pay Rate	Hours	Total
OC - Server	\$2.15	63.43	\$136.37
Sales: \$1,107.34	Total Claimed Tins	63.43	\$136.37 \$0.00
Tips: \$102.79	Claimed Tips Gratuity		\$2.27
	Grand Total		\$241.43
Mendoza, David	Avg Payrate		\$3.81
ob Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1103. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Morales, Luis	Day Data	Haure	Takal
ob Title OC - Cook	Pay Rate \$11.00	Hours 35.35	Total \$388.81
	Total	35.35	\$388.81
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
1162. 30.00	Grand Total		\$388.81
	Avg Payrate		\$11.00
Ozuna, Angel	Day Pata	Hours	Takel
ob Title OC - Cook	Pay Rate \$10.00	Hours 10.35	Total \$103.49
	Total	10.35	\$103.49
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
прэ. 40.00	Grand Total		\$103.49
	Avg Payrate		\$10.00
Palacios, Jacquelin	Day Date	Цания	T-4-1
ob Title OC - Server	Pay Rate \$2.15	Hours 40.07	Total \$86.16
	Total	40.07	\$86.16
Sales: \$668.70 Tips: \$49.61	Claimed Tips Gratuity		\$0.00 \$9.45
1193. 343.01	Grand Total		\$145.22
	Avg Payrate		\$3.62
Palacios, Jennifer		11	.
ob Title OC - Floor Manager	Pay Rate \$17.00	Hours 30.66	Total \$521.23
	Ψ17.30	_0.00	75-1.25

Waitstaff Manager			
Waltstall Wallager	\$5.00	49.34	\$246.70
OC - Floor Manager - OT	\$25.50	22.05	\$562.24
Waitstaff Manager - OT	\$7.50	17.77	\$133.2
	Total	119.82	\$1,463.4
Sales: \$5,780.89	Claimed Tips		\$0.0
Tips: \$374.95	Gratuity Grand Total		\$71.9 \$1,910.2
	Avg Payrate		\$15.9
Pequeno, Jaylene			7-0-0
lob Title	Pay Rate	Hours	Tota
OC - Server	\$2.15	37.17	\$79.9
00 00.110.	Total	37.17	\$79.9
Sales: \$3,442.48	Claimed Tips		\$0.0
Tips: \$189.69	Gratuity		\$71.9
	Grand Total		\$341.5
	Avg Payrate		\$9.1
Ramirez, Issai			
Job Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
•	Grand Total		\$0.0
	Avg Payrate		\$0.0
Ramirez, Marissa			
Job Title	Pay Rate	Hours	Tota
Waitstaff Manager	\$5.00	31.48	\$157.4
	Total	31.48	\$157.42
Sales: \$756.19	Claimed Tips		\$0.00
Tips: \$75.21	Gratuity		\$0.00
	Grand Total Avg Payrate		\$232.63 \$7.39
Damiras Mass	Avg rayidle		.5. رږ
Ramirez, Moses	Day Dots	Hours	Ŧ.,
Job Title OC - Cook	Pay Rate \$10.50	Hours 80.00	Tota \$840.00
OC - Cook - OT	\$15.75	13.14	\$206.89
	Total	93.14	\$1,046.89
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,046.89
	Avg Payrate		\$11.2
Remigio, Jose			
Job Title	Pay Rate Total	Hours 0.00	Tota \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
• • • • • • • • • • • • • • • • • • • •	Grand Total		\$0.0
	Avg Payrate		\$0.00
Reyes, Uriel			
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Rios, Anahi	<u> </u>		
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.00
<u> </u>	Avg Payrate		\$0.00
Rios, Anahi			
Job Title	Pay Rate	Hours	Tota
Salas, ¢0.00	Total Claimed Tins	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips		\$0.00 \$0.00
	Gratuitu		30.00
11ps: 30.00	Gratuity Grand Total		
11ps. \$0.00	Grand Total		\$0.00
			\$0.00
Rodriguez, Simon	Grand Total Avg Payrate	Rate Hours	\$0.00 \$0.00
	Grand Total Avg Payrate Pay	Rate Hours 50.00 80.00	\$0.00 \$0.00 Tota \$0.00
Rodriguez, Simon	Grand Total Avg Payrate Pay		\$0.00 \$0.00 Tota
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT	Grand Total Avg Payrate Pay	\$0.00 80.00 \$0.00 13.35 Total 93.35	\$0.00 \$0.00 Tota \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00	Grand Total Avg Payrate Pay S Claimed	\$0.00 80.00 \$0.00 13.35 Total 93.35 I Tips	\$0.00 \$0.00 Tota \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT	Grand Total Avg Payrate Pay Claimec Gra	50.00 80.00 50.00 13.35 Total 93.35 I Tips	\$0.00 \$0.00 Tota \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00	Grand Total Avg Payrate Pay Claimec Grand	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Claimec Gra	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Claimed Grand Avg Pa	50.00 80.00 50.00 13.35 Total 93.35 Tips tuity Total yrate	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Claimec Grand	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00	Grand Total Avg Payrate Pay Claimec Gra Grand Avg Pay Pay Rate	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity Total yrate	\$0.00 \$0.00 Tota \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title	Grand Total Avg Payrate Pay Claimec Grand Avg Pa Pay Rate Total Claimed Tips Gratuity	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity Total yrate	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00	Grand Total Avg Payrate Pay Claimec Gra Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity Total yrate	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Claimec Grand Avg Pa Pay Rate Total Claimed Tips Gratuity	50.00 80.00 50.00 13.35 Total 93.35 I Tips Ituity Total yrate	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose	Grand Total Avg Payrate Pay Claimed Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Avg Payrate	60.00 80.00 50.00 13.35 Total 93.35 ITips Ituity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Claimed Gra Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00 Tota \$0.00 \$
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title	Pay Rate Claimed Total Avg Payrate Claimed Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Avg Payrate	60.00 80.00 50.00 13.35 Total 93.35 ITips Ituity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose Job Title Sales: \$0.00	Grand Total Avg Payrate Pay Claimec Gra Grand Avg Pa Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Claimed Tips	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title	Pay Rate Total Avg Payrate Claimed Gra Grand Avg Pa' Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Grand Total Avg Payrate	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose Job Title Sales: \$0.00	Pay Rate Total Avg Payrate Claimed Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00	Pay Rate Total Avg Payrate Claimed Gra Grand Avg Pa' Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate Total Claimed Tips Grand Total Avg Payrate	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00 Total \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose Job Title Sales: \$0.00	Pay Rate Claimed Tips Grand Total Avg Payrate Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	S0.00 80.00 13.35 Total 93.35 I Tips Ituity Total yrate Hours 0.00	\$0.00 \$0.00
Rodriguez, Simon Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Tips: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose Job Title Sales: \$0.00 Ruiz, Jose	Pay Rate Total Avg Payrate Claimed Grand Avg Pa Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total	60.00 80.00 13.35 Total 93.35 I Tips tuity Total yrate Hours 0.00	\$0.00 \$0.00

						4
Sales: \$0.00 Tips: \$0.00			Claime	d Tips atuity		\$0.00 \$0.00
1103. \$0.00			Grand			\$152.40
			Avg Pa			\$10.50
Serrano, Chloe				,		+
Job Title			Pav	Rate	Hours	Total
JOB THE				Total	0.00	\$0.00
Sales: \$0.00			Claimed			\$0.00
Tips: \$0.00				tuity		\$0.00
			Grand 1			\$0.00
			Avg Pay	rate		\$0.00
Solis, Gianna						
Job Title			Pay R	ate	Hours	Total
OC - Server				.15	14.26	\$30.65
				otal	14.26	\$30.65
Sales: \$43.32			Claimed 1			\$0.00 \$0.00
Tips: \$0.00			Grate Grand To			\$30.65
			Avg Payr			\$2.15
Cuaras Alayay			710g . u.y.			72.20
Suarez, Alexey			Day Data	II.a.		Tatal
OC - Cook			Pay Rate \$10.00	Ho u 80.		Total \$800.00
OC - Cook - OT			\$15.00	31.		\$467.09
			Total	111.		\$1,267.09
Sales: \$0.00		Clai	med Tips			\$0.00
Tips: \$0.00			Gratuity			\$0.00
			and Total			\$1,267.09
		Av	g Payrate			\$11.40
Trevino, Jose						
Job Title				Rate	Hours	Total
- 1 4				Γotal	0.00	\$0.00
Sales: \$0.00			Claimed	•		\$0.00
Tips: \$0.00			Grand 1	tuity		\$0.00 \$0.00
			Avg Pay			\$0.00
Tuesda less			Avgru	rute		\$0.00
Trevino, Jose Job Title			Dave	Data	Harma	Tatal
Job Title				Rate Fotal	Hours 0.00	Total \$0.00
Sales: \$0.00			Claimed		0.00	\$0.00
Tips: \$0.00				tuity		\$0.00
•			Grand 1	Γotal		\$0.00
			Avg Pay	rate		\$0.00
velez, Arnulfo						
Job Title			Pay	Rate	Hours	Total
				Γotal	0.00	\$0.00
Sales: \$0.00			Claimed			\$0.00
Tips: \$0.00				tuity		\$0.00
			Grand 1			\$0.00
			Avg Pay	rate		\$0.00
Villanueva, Julio						
Job Title OC - Cook			Pay Rate		ours	Total
OC - COOK			\$10.50 Tota l		3.06 3.06	\$714.59 \$714.59
Sales: \$0.00		CI	aimed Tips			\$0.00
Tips: \$0.00		- C	Gratuity			\$0.00
		0	Grand Total			\$714.59
		A	vg Payrate			\$10.50
Yoo, Ethan						
Job Title			Pav	Rate	Hours	Total
			. u y			
				Γotal	0.00	\$0.00
Sales: \$0.00			Claimed	Γotal Tips	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00			Claimed Gra	Fotal Tips tuity	0.00	\$0.00 \$0.00
			Claimed Gra Grand 1	Fotal Tips tuity Fotal	0.00	\$0.00 \$0.00 \$0.00
		F.:	Claimed Gra Grand T Avg Pay	Fotal Tips tuity Fotal	0.00	\$0.00 \$0.00
Tips: \$0.00	Tabel III-ii	Summa	Claimed Gra Grand I Avg Pay	Total Tips tuity Total vrate		\$0.00 \$0.00 \$0.00 \$0.00
Tips: \$0.00 Job Code		Regular Hours	Claimed Gra Grand 1 Avg Pay ry OT Hours	Total Tips tuity Total rrate Total Pay	Regular Pay	\$0.00 \$0.00 \$0.00 \$0.00
Tips: \$0.00 Job Code Default Job Code	337.08	Regular Hours 254.51	Claimed Gra Grand 1 Avg Pay ry OT Hours 82.56	Total Tips tuity Total vrate Total Pay \$152.40	Regular Pay \$152.40	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Tips: \$0.00 Job Code Default Job Code OC - Cook	337.08 589.48	Regular Hours 254.51 493.51	Claimed Grand 1 Avg Pay ry OT Hours 82.56 95.96	Total Tips tuity Total rrate Total Pay \$152.40 \$6,597.45	Regular Pay \$152.40 \$5,118.38	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 OT Pay \$0.00 \$1,479.07
Job Code Default Job Code OC - Cook OC - Server	337.08	Regular Hours 254.51 493.51 314.68	Claimed Grand 1 Avg Pay ry OT Hours 82.56 95.96 0.00	Total Tips tuity Fotal rate Total Pay \$152.40 \$6,597.45 \$676.55	Regular Pay \$152.40	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 OT Pay \$0.00 \$1,479.07 \$0.00
Tips: \$0.00 Job Code Default Job Code OC - Cook	337.08 589.48 314.68	Regular Hours 254.51 493.51	Claimed Grand 1 Avg Pay ry OT Hours 82.56 95.96	Total Tips tuity Total rrate Total Pay \$152.40 \$6,597.45	Regular Pay \$152.40 \$5,118.38 \$676.55	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 OT Pay \$0.00 \$1,479.07
Job Code Default Job Code OC - Cook OC - Server OC - Cashier OC - General Manager Waitstaff Manager	337.08 589.48 314.68 125.79	Regular Hours 254.51 493.51 314.68 123.79	Claimed Grand 1 Avg Pay ry OT Hours 82.56 95.96 0.00 2.00	Total Tips tuity Total Tips Total Tips Total Total Total Pay \$152.40 \$6,597.45 \$676.55 \$1,267.84	Regular Pay \$152.40 \$5,118.38 \$676.55 \$1,237.89	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 OT Pay \$0.00 \$1,479.07 \$0.00 \$29.95
Job Code Default Job Code OC - Cook OC - Server OC - Cashier OC - General Manager	337.08 589.48 314.68 125.79 110.77	Regular Hours 254.51 493.51 314.68 123.79 80.00	Claimed Grand T Avg Pay ry OT Hours 82.56 95.96 0.00 2.00 30.77	Total Tips tuity Fotal Pay \$152.40 \$6,597.45 \$676.55 \$1,267.84 \$0.00	Regular Pay \$152.40 \$5,118.38 \$676.55 \$1,237.89 \$0.00 \$590.80 \$521.23	\$0.00 \$0.00 \$0.00 \$0.00 OT Pay \$0.00 \$1,479.07 \$0.00 \$29.95 \$0.00